SENDING COMMANDS FOR POWER ANALYZER 2
STEP BY STEP USING ARDUINO

1. Upload the this code.

1 L‘::i_:l setup () {

2 // put your setup code here, to run once:

4]

& void loop() {

7 // put your main cods here, to run repesatedly:
51

2.Construct the wiring Diagram using Arduino UNO as UART.

Arduino

3.3V
TX D1

3. Open Terminal 1.9b. Rescan and choose the right comport (make sure the arduino is
connected to PC via USB). Set the baudrate, data bits, patiry,sto bits, handshaking.
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4 After you set the terminal. Click Connect.

There should be a display like on the picture below. (Readable Formart - M1)
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To Change it to M2 — ASCII CSV formar.

5. Type the $02M2$03.

tacro
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6. The display should be like this after you send the Command.

&2 Terminal v1.9b - 201301166 - by Br@y++ — O
COM Port Baud rate [rata bit Parity Stop bit: Handshaking
600 (T 14400 ¢ 57600 || 5 & nore || g 4 i none

75';5?‘"” [CoM? >/l 1200 ¢ 19200 ¢ 115200 || ~ & || odd © RTS/ATS
% coMs | 2400 28800 128000 . Coeven || 015 || XONMOFF

SOt g ¢ 4800 " 33400 ¢ 256000  mark " RTS/CTS+X0N/XOFF

Quit | & 9600 " 56000 ¢ custom || ©* 8 " space C2  RTSonT® [ invert

~Setting

setfont | [~ AutoDis/Connect [~ Time [~ Streamlag custom BR Rx Clear  ASCHl table| Scripting | =icTs [

[~ AutoStart Seript [ CR=LF [ Stapon Top ISBUD |'1 '3’ Graph | _Remate | EI0sR E

“Receive
CLEAR | [ AutoSciol _ResstCnt | [13 2] Cri= 959 F HEX Statlog| Sioplon| _Req/Resp | F ne LEn

VA: 2.1€ Q Power: 0.34 Q Instant: 2.33

PBF: -0.0951 Temperature: 21.29%9

Harmonic: -0.21 Fundamental: 0.01 Fundamental Reactiwe: 0.01
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